3 aal) 2amta a gil)

(2% + 3)(2x — 5) + 58 — 5x +2

(4x” + 2)(4x — 6) + 2 — 6x — 3

(6x° — 1)(6x+4) — 4x* + 5x —2

(Gx+ 3)(3x— D(3x + 3)

(4 — 6+ 1)(x+4)+3 x 3x+2

Al

(x— 2)(6x° + 4x— 1)+ (5x — 5)(5x — 5)

(Bx+ 1)(6x+ 5)(x— 5)

Ix—(5+6x)(x—3)(x+1)

(x+ 3)(6x° + 4x + 3) — Bx + 1)(6x + 4)

(4x° +x—5)2x+ 1) +2 x 4x— 5
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RPREN{RRPRINP A

sl EEN
(2% + 3)(2x — 5) + 5% — 5x +2 (x— 2)(6x% + 4x— 1)+ (5x — 5)(5x — 5)
47 — 5% +x— 13 6> + 1732 — 59x + 27
(4% + 2)(4x — 6) + 2% —6x — 3 (3x+ 1)(6x + 5)(x — 5)
16x° — 222 + 2x— 15 18x° — 69x% — 100x — 25
(6x% — 1)(6x +4) — 4 + 5x — 2 3x— (5+6x)(x — 3)(x+ 1)
36x° + 20x2 —x— 6 —6x° + T + 31x+ 15
(3x+ 3)3x— 1)(Bx + 3) (x+ 3)(6x2 + 4x + 3) — (Bx + 1)(6x + 4)
27> + 45x* + 9x— 9 660 + x> —3x+ 5
(4% — 6x+ 1)(x+ 4)+3 x 3x+2 (A2 +x—5)2x+1)+2x4x—5
43 + 1002 — 14x+ 6 8¢ + 62 —x— 10
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